0]

d
dsqrt{d

5} [pb,GeV ]

Ratio to ATLAS

= -
H
o < =

| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| [ TTTH

[EEY

0.5

8000 GeV pp

Z (Drell- Yan)

,,;El:!i&ii
& iﬁ;

Splitting scale\/dﬁ2 (71<m <111 GeV)

N | |
LY _
‘W =
\ . —
Q‘g u ]
'm. m —
B ATLAS ‘ =
--©-- Pythia 6.428 390 —
8- Pythia 6.428 391 ALY =
-4 - Pythia 6.428 392 e om T
--*-- Pythia 6.428 396 NN 7]
—-%-- Pythia 6.428 397 RO I
--¥-- Pythia 6.428 398 ¥ S
;L | | | | | I | | | | | I I | | E
:I | T T T T T T T T | T T T T T T T | T :
- x |
C o 1
w\g\’@\\‘ . N
L i\&@ J *\ _|
\ "@3@ ¥’
— *\ E —
: \ ﬁ@a@@% |
- \ \%@\ —
1 | 1 | ‘% \N\,\}‘ 1 |
1 10 2

sqrt{dO_Z} [GeV]

Rivet 3.1.10, = 2.7M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


